EARAROBEEIERT — 2 N— IBISH —F

2014F11 818 (£) 4E%E=R8H

Ul o R2m B [EE] B

‘ [K1%] /J\Eﬁ‘ [REBE] — | Z (A) 16000 B

[A~&£] 17 :7,000,000  ~ 23 :2,800,000 37 :1,800,000

/473 11,100,000 5 7& :700,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N S =LA HEIEE :36. - . . ERR (EH)
1 5 H4A4TISL4 4 2 ) 1(3_6)9 1-1 345|795 | 2 (4E0) raicrol
LNnN—E>TPrv— B:EATIHh—L vy b HBE77— L4
i 2 | AENER 1:37.3 3-3 34.6| 75.3 | 4 488 | ATTETE (5Ei/)
2 3 i e S O Gl S 54.0 2 1/2) () | ke
L:€r/07a4 B:Ug-—Fv X b N H LS
v S 4 2 | HIDfA(E 1:37. 10-10 34.1| 75.7 | 5 466 | AIEH (EH)
s 7|/S—7x7bE2— 54.0 (7€) ) | B *vourTr-n
LN—E>Vv— BN-T1UhTyF =Y Tr—L4
. = # 2 | SHEZ 1:37.4 2-2 34.9| 72.9 | 10 | 482 |XEI (EiH)
41815 Ay 7% +v>7 41 54.0 (1/2) (=) (%) Basic
R:N=V9754 B:HvET 18 Sk
o2 | KEHEE 1:37.6 13-13 | 34.0| 72.6 | 14 | 488 |IEFHMIEL (F#)
51713 7Y 55.0 (1) (=) RAE
R:T5v 84K BiXA—bUT7— EE —B
S “ 4 2 | ERH 1:38.0 12-10 | 34.7| 67.9 | 6 468 | HAFEE (FR)
6|1|2|¥r>2ILIyh 54.0 @ 1/2) oy | @) #rFL-—sry
x4 aghyy B:xU—Yvi2)L J =Y Tr—L
v . #t 2 | C. bx—l 1:38.2 3-3 35.4| 63.5 | 1 486 | BEEIEHR (RR)
7R g | 7NV T R 55.0 (172 o | @ #rFoL-sy
L:TLeFFE2T« BTN=UCTTIH () HEI-RL—-2a>AET 7
= o2 | Bl 1:38.2 7-6 35.2| 64.6 | 15 | 466 |/M\FREB (Ei#)
gl7l14/bAOT T 1 — 55.0 (NF) (=) | G L
L:€r/0704 B:IPa7T7IN— i=tie]
s t 2 | AHEH 1:38.2 10-10 | 34.9] 65.8 | 9 510 | #EFE (i)
9|5|g|FAHTLA Y- " 7€) o) | migr
L:Er/Oo7040 BiFr—3I2FIUZ HET7—L4
SO S o2 | SHER 1:38.4 7-6 35.4(61.9 | 7 470 | REEERI (EA)
1oy 4|YvIA77ANE 55.0 (1 1/4) —) | .8 G1L—>>%
L:77NTTT B:TLT1TIRR HET77— L
. = 4 2 | REES 1:38.8 15-15 349|597 | 8 430 | BEERE (EH)
111 b—tE>FF27I 54.0 21/2) (=) | BllRES
A4 agyLvyy B:H-IWVI =7 BERE& IXF1T77—L4
. s 2 | ML 1:39.0 3-3 36.3| 52.8 | 11 512 | BUEER (E#H)
12@l17| 7 >3-F =7 5.0 (1 174 O | EEe
LY LFAN=-t B:FI-/TFE =itie]
SRIRPP 4 o2 | FlBEX 1:39.2 13-13 [ 35.6| 54.5 | 3 480 | HEBT (E}R)
EHH Ty 2TTI— 55.0 (1 1/4) - MEH;) TI—ZTALh
LA N—3IGA—L BEXEFF I 45
S # 2 | EREX 1:39.5 6-6 36.6| 47.7 | 12 | 460 |/MNEBA (EiH)
141816| P 7> —> 54.0 (1 3/4) (L) |H H Sz1s-FnAK
L:viNnNygLhT7r BT7TVII-ar H—L—+ T vIN> - T7—LBRS
> s 42 | HHEXH 1:39.7 7-9 36.6 | 46.1 | 13 516 | BREE (El)
15 12 ARV =2 5’3.0 (1 1/4) (—) (%) ¥ Iy K57 -5747
R:¥rin40— B:NFIXTTI TS
e g # o2 | BIBIEA 1:40.3 15-16 [ 35.9| 44.4 | 17 | 428 |EWANE (i)
16l 6| 7RAY vV A52.0 3 1/2) (=) |ZHERYSTLy k5T
R:Oyav#40s Bivv/ /45> by 7 EH T
° AN 42 | KEFATR 1:42.8 17-17 37.8| 19.7 | 16 442 | HALLFHE (E)
17/5 10| N T AE— /XA F 8.0 ) o |
R:TPNTSY BTI5A RRZRNAF hEEIS
@ 71 L
) 47.4-34.5
NO>24 L | 12.8-11.6-12.2-12.9-12.9-11.6-11.1-11.8
@ 1—F—@&BIEf
12—7—
23—7F—
Gal=7r= 5,15(3,8,17)16(4,12,14) (7,9)2(11,13) (1,6)=10
43—+ — (¥5,15) (3,8,17) (4,14,16)12(2,7,9)-(11,13) 1-6-10
[ RN
B OB 5 330H 714K 3-5 540M e & 2-3 1,100 &R 3-5-7 4,340
1 B 5 150 5-7 750M B & =) 1,250/ K31 BT 14,300H
3 220H 3-7 1,390 B H 5-3 1,950M
7 260M

ABICOVWTRDTEEERROODE. TR LIV,




